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O ICHERERHB L. A7 v VR BE F TICEGE> L IREZ Ko 5 BASIC
HHEETFE2 LT, Z2OFEDORIY D70 T —IZ 775 L0 1HEKI2ISRT,
FRAEMATEL, 2D &) LBECDOREHLS

10 REM PI#§51c 817 2 IRNATEE R T 2B

20CLS 3

30 CONSOLE 0,25,0,1

40 SCREEN 3,0

50 X 0=320:Y 0=280:CL=5:R 0=85: PAI=3.14159

60’

70 WIDTH 80,25

80 CIRCLE(X 0,Y O)R 0,CL

90 LINE(LY 0)—(635,Y 0),4 : LINE(X 0—7)(Y 0—~2%R 0)—((X 0+7)(Y 0—2*R O)),CL

100 LINE(X 0,1)—(X 0,395),4

110 LINE((X 0+2 *R 0){Y 0+7)) —(X 0+2 %R 0),(Y 0—7)),CL: LINE(X 0—2*R 0),(Y 0+7) —(X 0—2*R 0)(Y 0—7).CL
120 FOR X=-2%R 0 TO 2*R O STEP.1

130 Y =SQR((2*R 0)"2—-X"2):X 1=X+X0:Y1=-Y+Y 0:PSET(X 1,Y 1),CL

140 NEXTX

150"

160 M=35:L=20

170 FOR X=—M TO M STEP.1

180Y=-L

190 IF L =100 THEN 280

200Y1=-Y+Y0:X1=X+X 0:PSET(X 1,Y 1),6

210 IF X <0 THEN GOTO 220 ELSE GOTO 240

220 T=PAI*(1+X,/R0)/2:X 2= —(2*%R 0-Y)*COS(T) : Y 2=—TAN(T) *X 2: XX 1=X 2+X 0:YY 1=-Y 2+Y 0
230 GOTO 250

240 T=PAI*(1-X,/R0),/2:X 2=(2*R 0—Y)*COS(T) : Y 2=TAN(T)#X 2: XX 1=X 24X 0:YY 1=-Y 2+Y O
250 PSET(XX 1,YY 1)4

260 NEXT X

270 L=L+40: GOTO 170

280

290 L=20

300 FOR Y=—L TO—(L+40)STEP—.1

310X=-M

320Y1=-Y+Y0:X1=X+X0:PSEI(X 1,Y 1),6

330 T=PAI*(1+X,/R0)/2:X 2=—(2%R 0—Y¥)*COS(T) : Y 2=—-TAN(T) #X 2: XX 1=X 2+X 0:YY 1=-Y 2+YO0
340 PSET(XX 1,YY 1)4

350 NEXT Y

360 FOR Y= —L TO—(L+40)STEP .1

370 X=M

380Y1=-Y+Y0:X1=X+X0:PSET(X 1,Y 1),6

390 T=PAI*#(1-X/R0)/2:X 2=(2*R 0—Y)*COS(T) : Y 2=TAN(T) *X 2: XX 1=X2+X 0:YY1=-Y2+Y O
400 PSET(XX 1,YY 1),4

410 NEXTY

420 END

10 REM PI§E1c 5 (7 3 (R0 E S 1233 2 )0
20CLsS 3
30 CONSOLE 0,25,0,1
40 SCREEN 3,0
50 X 0=320:Y 0=280:CL=5:R 0=85: PAI=3.14159
60’
. 70 WIDTH 80,25
80 CIRCLEX 0,Y O)R O,CL
90 LINE(LY 0)—(635,Y 0),4 : LINE(X 0—7)(Y 0—2*R 0)) —((X 0+7)(Y 0—~2*R O)).CL
100 LINE(X 0,1)—(X 0,398),4
110 LINE((X 0+2 *R 0)(Y 0+7)—((X 0+2 %R 0),(Y 0—7)),CL: LINE(X 0—2*R O)(Y 0-+7)) (X 0—2*R 0)(Y 0—7)CL
120 FOR X=-2%R 0 TO 2*R 0 STEP.1
130 Y=SQR((2*R0) "2—X"2):X 1=X+X0:Y1=-Y+Y 0:PSETX LY 1)CL
140 NEXT X
150"
160 R 1=30:H=50
170 FOR X=—R 1 TOR 1 STEP.1
180 Y=SQR(R1"2-X"2)—H
190Y 1=-Y+Y0:X 1=X-+X 0:PSET(X 1,Y 1).6
200 IF X>0 THEN GOTO 210 ELSE 230
210 T=PAI*(1-X, R 0),/2:X 2=(2*R 0—Y)*COS(T) : Y 2=TAN(T) *X 2: XX 1 =X 2+X 0:YY 1=-Y 2+Y 0
220 GOTO 240
230 T=PAI*(1+X,/R0)/2:X 2=—(2%R 0-Y)*COS(T) : Y 2=—TAN(T) X 2: XX 1 =X 2+X 0: YY 1=-Y 2+YO0
240 PSET(XX 1YY 1)4
250 NEXT X
260 FOR X=—-R1TOR 1 STEP.1
270 Y=—-SQR(R 1°2-X"2)-H
280Y 1=-Y+YO0:X1=X+X 0:PSET(X 1Y 1)6
290 IF X >0 THEN GOTO 300 ELSE 320
300 T=PAI*(1—X/R 0)/2:X 2=(2*R 0—Y)*COS(T) : Y 2=TAN(T) *X 2: XX 1=X2+X 0: YY 1=-Y 2+YO0
310 GOTO 330
320 T=PAI*(1+X/R0)/2:X 2=—(2*%R 0—-Y)*COS(T) : Y 2= —TAN(T) *X 2: XX 1=X 2+X 0: YY 1=-Y 2+YO0
330 PSET(XX 1YY 1)4
340 NEXT X
350 END
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